VB IEER(NO, BEZ1L)

HH6F3IA3AH

(1) FF91E (ppm)
B X o B 8 F BB £ SHUxEE|$MEE| $EE |[SHIEE|SHEE
— % Bl B B & 0.008 0.007 0.007 0.007 0.006
= ES * 0.008 0.008 0.007 0.007 0.006
5 B (£ 0.007 0.007 0.006 0.006 0.005
= iy £ 0.007 0.007 0.006 0.006 0.005
i 10 * 0.006 0.005 0.005 0.005 0.004
th g7 * 0.008 0.010 0.009 0.009 0.008
+ Pl F 0.008 0.007 0.007 0.007 0.007
1] H £ 0.006 0.006 0.005 0.005 0.004
+ 4t B £ 0.008 0.007 0.007 0.007 0.006
Iy i * 0.005 0.005 0.004 0.004 0.004
= BlE A i) 0.006 0.006 0.005 0.005 0.005
E3 H|% H F 0.005 0.005 0.004 0.005 0.004
=] E=l1=] =) 1F 0.006 0.006 0.005 0.005 0.005
A EJED & x 0.002 0.002 0.002 0.002 0.001
Hw Jt|1l JT * 0.003 0.003 0.003 | % 0.002
F FF [ FF F 0.007 0.007 ) 0.006 0.005
18 EAb o ] 0.007 0.007 0.007 0.007 0.006
a BE & @A * R 0.006 0.005 0.005 0.005
B O BXATI F 0.005 0.004 0.004 0.004 0.004
[N B B F 0.005 0.005 0.004 0.004 0.004
X | KX Gl £ 0.005 0.005 0.005 0.005 0.004
i HEHEE x 0.002 0.002 0.002 0.002 0.002
= i A= A £ 0.004 0.004 0.003 0.003 0.003
& X 8 |#E T 0.004 0.004 0.003 0.003 0.003
Ed FE - ES 0.003 0.003 0.002 0.002 0.002
X lE oo % 0.004 0.004 0.004 0.004 0.004
B # Bl BE M & 0.012 0.011 0.010 0.010 0.009
PN [y % 0.011 0.010 0.010 0.009 0.009
ko 1& [ 0.012 0.013 0.012 0.011 0.009
£ £ 0.010 0.009 0.009 0.009 0.008
& BE|%E I 0.015 0.014 0.013 0.013 0.012
it iR 5] 0.010 0.009 0.008 0.008 0.008
18 B[R EHE[%E T 0.011 0.010 XX 0.010 0.009
& |2 En B HE | I 0.012 0.012 0.011 0.011 0.009
X W55 | 5 1 B k| T 0.008 0.008 0.007 0.007 0.006
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(2) HFEHEDER9I8%IE (ppm)
5 K ol B #8 F BlE &F SHTEE | SH2EE | SH3EE [SH4EE|SHSEE
— % B B B & 0.020 0.021 0018 0017 0016
=2 ES * 0.020 0.021 0.018 0.018 0.015
5 = F 0.018 0.019 0.015 0.014 0.013
= i) * 0.017 0.018 0.015 0.015 0.013
i 10 F 0.014 0.014 0.012 0.011 0.010
th g7 * 0.021 0.023 0.021 0.021 0.019
+ Pl F 0.022 0.021 0.020 0.019 0.019
1] H £ 0.016 0.015 0.012 0.012 0.010
+ 4t B {5 0.020 0.021 0.017 0.016 0.015
Iy 3 #* 0.013 0.013 0.010 0.011 0.009
= BlE A [z 0.015 0.015 0.012 0.012 0.011
E3 H|% H F 0.014 0.014 0.010 0.010 0.009
=] a8 A ES 0.016 0.014 0.013 0.012 0.011
A EJED & x 0.005 0.005 0.004 0.003 0.003
Hw Jt|1l JT * 0.008 0.007 0.006 | % 0.005
F FF [ FF F 0.019 0.018 ) 0.014 0.014
18 EAb o 5] 0.020 0.021 0.018 0.018 0.016
a B & A * R 0.013 0.011 0.013 0.011
B O BXATI F 0.013 0.012 0.011 0.011 0.010
[N B B F 0.015 0.013 0.011 0.012 0.010
X | KX 0 F 0.014 0.015 0.012 0.012 0.011
i B EREE x 0.005 0.005 0.004 0.004 0.004
1 T 1F 0.010 0.010 0.008 0.007 0.008
& X 8 |#E T 0.009 0.009 0.008 0.007 0.006
Ed FE - ES 0.007 0.008 0.006 0.006 0.005
X lE oo % 0.013 0.012 0.011 0.009 0.009
B # Bl BlE M & 0.026 0.026 0.022 0.022 0.021
PN [y % 0.025 0.025 0.022 0.019 0.019
ko 1& ] 0.026 0.029 0.025 0.022 0.020
£ £ 0.021 0.021 0.018 0.019 0.016
& BE|%E T 0.030 0.030 0.027 0.028 0.025
it iR 5] 0.022 0.021 0.017 0.017 0.017
18 B[R EHE[%E T 0.027 0.027 ) 0.026 0.023
& | En B HE | I 0.026 0.024 0.023 0.021 0.019
X W55 | 5 1 B k| T 0.017 0.017 0.015 0.014 0.013
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